Reclining Back Hardware




Reclining Back Hardware

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 04429X009-NLA | NLA - Tube, Strut (14" W) 1 1
1 04419X015-NLA | NLA - Bar, Adjustable Pivot, Spreader (Pair) 1 1
1 40197X000-NLA | NLA - Pin, Roll (3/16 x 7/8") 1 1
1 47340X003-NLA | NLA - Handle 1 1
2 A |40299X010-NLA | NLA - Grip, Hand, Grey 1 2
2 B 1029096-NLA | NLA - Grip, Hand, Black 1 2
3 A |16812X000-NLA | NLA - Grip, Hand, Center, Grey - NLA 1 1
3 B 1029099-NLA | NLA - Grip, Hand, Center 1 1
4 47340X006-NLA | NLA - Handle Tie Rod 1 1
5 11232X009 Bolt, Lug (5/16-24 x 1-3/8") 1 2
6 7930363-NLA | NLA - Package, Locknut (5/16"-24) 25 3
7 04562X016-NLA | NLA - Tube, Back Support (14" Wide Chair) 1 1
8 47447X009-NLA | NLA - Screw, Phillips (#8 x 3/8") 1 3
9 1027095 Plug Button, Black (7/8") 1 1
10 1011725-NLA | NLA - Headrest Extension Tube Assembly 1 1
10 1054610-NLA | NLA - Headrest Extension Tube w/o Snap 1 1
Fasteners Assembly
11 47330X003 Spacer (5/16 x 1/2 x 3/8") 1 1
12 04562X003-NLA | NLA - Tube, Reclining Back - Right/Left 1 1
13 40363X000 Hex Nut (3/8"-16) 1 2
14 16325X000-NLA | NLA - Washer (3/8 x 13/16 x 1/16") 1 2
15 47324X004-NLA | NLA - Spacer (9/16 x 1 x 5/16") 1 1
16 60282X004-NLA | NLA - Bolt, Shoulder (1/2 x 2") 1 1
17 47376X025-NLA | NLA - Tip, Plastic, Black 1 1
18 1012386-NLA | NLA - Nut, Acorn (7/16-20) 1 1
19 47557X003-NLA | NLA - Handle, Locking 1 1
20 7930352-NLA | NLA Locknut (7/16-20) 25 1
21 04610X006-NLA | NLA - Tube, Slide, Chrome 1 1
22 04610X007-NLA | NLA - Rod, Locking 1 1
23 1015874-NLA | NLA - Tube, Ratchet, Chrome - Right 1 1
23 1015875-NLA | NLA - Tube, Rachet, Chrome - Left 1 1
24 60282X003-NLA | NLA - Bolt, Shoulder (1/2 x 1-1/4") 1 1
NOTE: A - Before 6/93

B - After 5/93




